13

A AL R

|

1

=

B =
A KL H B TRk 3044 10 A 31 H (K FRT 9 B 10 4
FELFE WhHAEGETHFE JREKEARE)
gk T 120 AEMERERDE - Bk L 18 BIARKE: - BT
o 2 g 1A T 150 BT 150 RUKHRKERE T 150 FERIAS
al 1rﬁ1k{ 154 gér%zﬁw*kfrz 13 P AR T 1 R
g T 1
FELIESTE| I FETH L 7 03%H
14, 500, 000 H
T EAMS e
k (FE k3 5 W)
A*Lﬁ/ﬁ :FE‘% %ﬁ—&ﬂ']\*L (*}Eﬂi%) (1’ 160, 000 Fq)
= 9,667,000
W%ggﬁ% (A AT A 5t 5 2 T4 2 1)
(773, 360 M)
WAL ek b iR kLo 14, 400,000 H
(ﬁw;z%/)\ (EALSBRIT I B W)
(1, 152, 000 )
- B RAFLE | 2 [MAFLE |45 3 RIAALE [ 45 4 M AAL
H AL H A o e () | et (1) | ik (M) | e () | 575
1 |4 BH RS 15, 800, 000
2 [ R ST 14, 500, 000
3 | ER RS BT SUE | 15, 300, 000
4 |1 RS 15, 500, 000
5 RS KA 15, 500, 000
6 [ SHINEREER 14, 400, 000 L
7 RS TR 15, 000, 000
8 |LATF&RHE
9
10
(F) EREAKEIZ1005) DSIZAH S T~ 5882 IR L7 &R ES EO AR Dk CTH 5,




